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£EBM RETEREERBE BRKLEFRE)
I

R e S

HERFR DI 77 A2 FEHL 1=,

IHH S iP5 A B C
Glu 17 B — &5 EENSDEWRE 2.3% 5.0% 7.5%
T-BIL 75 5% B S SEENSD Emg/dl +0.10mg/dl +0.20mg/d| +0.30mg/d|
NA H B — R SEEIS D E=mmol/L +2mmol/L *+3mmol/L +4mmol/L
K T B — 55T FEIYEH 5D E=mmol/L +0.10mmol/L | ==0.20mmol/L #+0.30mmol/L
CL I8 B — {55 SEEIS D E=mmol/L +2mmol/L +3mmol/L +4mmol/L
Ca 16 B — &5 SEHEMNSD EWRE 1.0% 4.08% 6.12%
IP 16 B — &5 SEHEMNSD EWRE 3.5% 5.0% 7.5%
Fe 16 B — &5 SEHEMNSD EWRE 5.0% 5.0% 7.5%
Mg B — S5 ®3Fi$]{|'575:60)iﬁ% D=+0.1mg/dl | @=0.2mg/dI @=+0.3mg/d|
QEMEIDD =% 25.0% @5.0% @7.5%
TP 17 B —#E:E SEHEMNSD EWRE 1.20% 3.31% 4.97%
ALB 16 B — &5 SEHEMNSD EWRE 1.3% 5.0% 7.5%
UA 16 B — &5 SEHEMNSD EWRE 5.0% 5.0% 7.5%
BUN 17 B — &5 EENSDEWRE 5.0% 5.0% 7.5%
| ore | ma-mmm | wswrcormga | Qofned | Jumad | Sozemga




£EBM RETEREERBE BRKLEFRE)
I

I8 H S fipaps A B C
T-CHO EE—EFE | FHEILDEREE 4.5% 5.0% 7.5%
TG ZRIARAE | CERENEOL%EE 5.09% 5.0% 7.5%
HDL-C s SR EHEMISDERE 5.0% 5.0% 7.5%
LDL-C s SR EHEMISDERE 5.0% 5.0% 7.5%
CRP 186 B — @311511['575\590) + mg_ldl @0.05mg/dI @0.10mg/dI @0.20mg/dlI
QFHEMNSD+RlwE @5.0% 26.0% @7.5%
AST IH B — & EHEISDEWIRE 5.0% 5.0% 7.5%
ALT TH B — 55T 4H EHEMISDENRE 5.0% 5.0% 7.5%
LD IH B — & EHEISDEWIRE 3.9% 5.0% 7.5%
ALP TH B — 55T 4H EHEMISDERE 5.0% 6.0% 7.5%
AMY TH B — 55T 4H EHEMISDERE 5.0% 5.0% 7.5%
CK IH B — & EHEISDEWIRE 5.0% 5.0% 7.5%
GGT IH B — & EHEISDEWIRE 5.0% 5.0% 7.5%
ChE EE—EFE | FHEILDEREE 4.7% 5.0% 7.5%
HbA1c TH B — 55T 4H EHEMISDERE 5.0% 5.0% 7.5%




£HM KFEETEFHEERBS BEKLEFRE)

B Glu _—

FafgL : 51
mg/dL 1
HIE & )i % | HIEEH | BER% ! ‘ ‘ ‘ ‘ ‘ @“m‘ 0t
~EYEF—Hik 35 | 58 | 39 63 0™ "
T BRILBREEE 16 27 15 25 ®GOD%M o
Jnak+—tk 0 0 0 3
TR Rl K®RE 1 2 1 1
TR BERILEERE 0 0 0 0.2 g
FSA42XM)—i% 7 12 6 7
KEE 1 2 1 — % |
24 :
B HED | HEO womme
87.5 191.8
mean (87.9) (191.7)
2RY—_RA11EE% FEfiD=>A
SD 086 214 (NFVFF—EE BRHOD1E | (AHSR 1)
CV% 0.98 1.11 )

L _______________________________________________________________________________________________________________________________________|
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£HM KFEETEFHEERBS BEKLEFRE)

By e -FEE

mg/dL 1 et s
. T-B L 3 ®b«f#¢4—«f | n:o7
O
iﬂ“iii:\ ﬁﬁggﬁ % ETIE& H Eﬁ% 1 PRI °© 8 ik Tk 2
E 28 | 47 29 43 o
N VEEME: | 20 34 21 47 o o
ERAMEMIEE | 1 2 1 0.2 :
2
97‘j% 2 3 2 1 . ﬁﬂofﬁﬂiﬂ:’%’?
RSA3RR—i&| 7 12 7 9 . _
ZA7SARY =R ek | HED | H80
REE 1 2 1 — 235 0.79 4.97
NTY VERERIEE|  0.70 4.70
z # mINERER{EL | 0.70 4.80
B AHO HHO STV 0.60 4.75
mean 0.74 4.85
(0.69) (4.80) 2RH— A 5HEER EL{ic,D=A.D
SD 0.07 0.20 %&ﬁ;’i H*ﬂ@?ﬁ% HEE%. Hg%:; (ﬁ#g)b, BT,
8. NFOUEBRIEEE RO Ba’k)
CV% 9.42 4.03 ) (AHZR 1HER)

L
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£EBM RETEREERBE BRKLEFRE)
I

BN B i - 50
a mg/dL 1

®)J‘i£:0cpc-z£ n:2
iﬂ“iiﬁ BEEQ& % .ﬁﬂ.ﬁﬁ E Eﬁ% O Fiik - MXBYE n:l
i O Fik s T Mk n:16
[ 35 28 49 27 25 s . Oﬂf:—:yumzmwmﬁ n:3
OCPCi% 2 4 3 5 — Jﬁﬁ:mf»zf 028
= OCPCif; /
TIhETY) % 16 28 17 50 e m
MXBi% 1 2 2 5 )
HankAKTY & 3 5 4 7 8
K
NIAEIAMN)—i% 7 12 6 7 § .
2
é{* %&ﬂblﬁﬁﬂlﬁ# | | | | | |
ELR S HEO HHEQ
mean 71 9.91 2RY—_A 2% #fic. D=>A.B
(7.61) (10.60) : = £ =
(BFE SHOO1HER. | (ExviL. REX
) 0.14 0.19 OCPCiE BHEHD1MEER) #a. B AR
CV% 1.82 1.95 (ABZR 1HEER)




£EBM RETEREERBE BRKLEFRE)
I

Hm P

HRY o - F

gL - 49
mg/dL 1
B WS | % | WEN | BE% f e
O Fik ®VT FUB-UVIE n:2
BERE 46 92 44 84 0%;%97‘%\/-7‘»% 0l
E)ITFUB-UVE 2 4 5 10
WIFTIL—ik 1 2 3 3
FI4rIAMN)—i% 1 2 1 3
%
g p
2& %
B S O B0 1 iR AL | |
mean 3.53 6.70
(3.90) (7.10)
SD 0.05 0.10 2 — A1 fEEE DA
CV% 1.42 155 (BFRx HHOD1ER) (ABAZR 15EER)




£EBM RETEREERBE BRKLEFRE)
I

B Fe

I 1&gk Kt 5t Al 48
pg/dl 1
J71% : Nitroso-PSAP{%& n:42
8 Vih:-SRAVAZES A N=1 N2 S n:4
AIE % B 58 % % BIE# | BER% @ J7it: : Forenefadith ni2
Nitroso-PSAP;% 42 88 44 86 E
nNyIzxFrokayvik 4 8 4 1
Ferenefa &% 2 4 2 1
Ferefe a3
NS4r3AM—i% 0 0 0 1 %
& 2
gz 2
M 90 95 100 105 110
é‘* RB01 RIS
Ene Eny = 1Q) Ery = 160)
mean 101.2 194.9 z;kqj-_,{,fzmgg E;Fﬁﬁ D=>A
SD > 08 203 (Nitroso-PSAPEERHDD | (AHZR 25EER)
1565% . AHEO1HEER)
CV% 2.02 1.55




£HM KFEETEFHEERBS BEKLEFRE)

B Mg

FeE (WM % |ER| BE%
BRE 24 77 21 69
BRE 7 23 9 28
2 ®

#_H HHO #HHO
mean 215 4.85
SD 0.09 0.12
CV% 414 2.49

<7 Xy A-Hig
mg/dL 1

B0 2 B R AL 2
42 44

18 20 22 24

REO1ERRLE

26

0 Ak
O RERIE

Hefgk - 31

n:7

n:24




£EBM RETEREERBE BRKLEFRE)
I

. TP REA-Ha it 51
g/dL 1

(o) Jiik e a—LyhE n:5l
HE % i % BT HEE%
Ea-Lybik 51 86 55 92 .
MIMTIAMN-E| 7 12 6 8
xEIEF 1 2 1 —
Hiﬂ; X
&
2 & -3
%&ﬂolﬁﬁkﬂ:?
S RED S0
mean 9.50 7.63
(5.59) (7.99) - _ _
SD 0.07 0.10 2R Y — A 2% §L{fic. D>A. B
' ' (E1—LybEBRBOO1RE | (ANSR 1HER)
cvoe 1.34 1.27 B, REERHODOER) | T 15ER




£HM KFEETEFHEERBS BEKLEFRE)

H ALB

TINT I -HiE gL 51
g/dL 1
@ Jiik - BCGiE: n:9
HTE % i % % AEH | BER% O Jik : BOPik n:2
BCG% 9 16 16 16 oﬁ?L:BCPﬂ(E‘ZL n:40
BCPHRiE 40 69 37 75
BCP% 2 3 2 3
BCPk ik
MI4TIAM)-i&| 6 10 4 6
*
KEIEF 1 2 1 — 3
g 3
M 30 32 34 36 38
2% HHEOD HEO B0 1 BRSRIL
3.46 4.79
mean " - —
(3.45) (4.90) 2;&-&_&41%5 E.:FWD:A
SD 0.08 0.08 (BCPERZE HHMOD1HE | (AHSR 1/EER)
&%)
CV% 2.30 1.72
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£HM KFEETEFHEERBS BEKLEFRE)

H UA

RER-HERT

FIEE - 51
mg/dL 1
@ Jiik Y —¥PODIE n:49
A& MR | % | WIEM | BE% (e e
nYh—t"-POD% 50 88 54 91 VI EPODIk
9h—t -UVik 2 3 2 2
FI4TIAM)—ik 5 9 4 7
;[j; N
Z .
£ & & .
el R
e HEO HHQ
mean 3.86 7.63
(4.14) (7.74) 2 H— A A 1}EER SE{HD=A
SD 0.06 010 (PUH—EPODE RHD | (AHIZ 15EE)
CV% 1.54 1.27 @11EE%)
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H BUN

£HM KFEETEFHEERBS BEKLEFRE)

REER-Hat e 1)
mg/dL 1
;'ﬂlliif mg&ﬁ % ﬁ'ﬂ'ﬁ& E ﬁ% @ ik TUESTEEE n:50
FUES—TiNE Bk | 50 83 51 85 0
FUESTRNEE 2 4 6
BSArSRM)—ik 7 12 7 9
REE 1 1 —
;EJ]-.
% 8
51*4 H*ﬁl-@ H*ﬁl.@ B0 1 RRRILZE
14.66 38.32
mean (15.34) (39.47) . . = =
- - 2RY—A3EER FE{fiC. D=>A
SD 0.25 0.56 (ZPrE=7:HE-EEZE & | (BxviL)
Vo 170 a5 HO2EE. REERM | (ANSR 1EER)
D11EER) B 1HEES

12



£EBM RETEREERBE BRKLEFRE)
I

B CRE

IVTF =%

/i 1 (s |
* @mf:méff n:5l
HTE % )i % AEH | BER%
BEFiE 51 88 55 90
RSArIRM)—i& 6 10 6 10
FRMEE 1 2 1 —
.
Y73 % g
H*i 51*4@) Eﬁ*#@ aﬂ()j;ﬂ{ﬂ:? 0.90 0.95 1.00 1.05
mean 0.953 3.811
(0.902) (3.762) - - -
2RY—_RA25EEX FEMD=>A. D
SD 0.02 0.04 (BFE BHOO1HER. | (AHN=ZX 15EHR)
CV% 2,51 116 FEZERHO1EER) B 1EE%

13



£EBM RETEREERBE BRKLEFRE)
I

. T- C h O a7 e — -t @ 50
mg/dL 1
iﬂ“iﬁi ﬁﬁ?ﬁﬁ % ﬁﬁﬂiﬁ H ﬁ%’ @ Jii : COD-POD: n:50
AVATA-VEREBER L 50 91 52 93
COD-POD{%
AVATR-LR K REER L 0 0 1 1
FSA44=XM)—i%k 5 9 4 5
#
K 8
2 &K §
51*4 Eﬁ*#@ Ej*#@ ﬁ 140 145 150 155
BUEHO 1 BB AL 22
mean 147.6 205.6
(144.0) (201.4)
SD 2.03 2.89 2RY—_R A2 5% #lC. D=>A
v 38 » (ALATO—LEMEEERE | BT 1R
HHO@25E ) (AHSR 1HEER)

14



£EBM RETEREERBE BRKLEFRE)
I

B 1G

s YERR - Et Bl 49
iﬂlliii;\ jﬁgﬁﬁ % ﬁﬁﬁﬁ Eﬁo/o e/t | @Jf’(i—/J\&a\icE:?ﬁié'{f n: 47
BRaix 49 91 54 95 O AR KR n:o
RSA4IAM)—%| 5 9 4 5
£ &
ELR HHEO HHOQ
mean 78.3 109.4 "
(94.2) (131.2) €
SD 1.63 2.47 2
e
CV% 2 . 08 2 . 25 70 72 74 76 78 80 82 84 86
A0 1ERILE
Bl ve ik HHEO | HHO
-, —_— & f E‘
HERES ) E0—)LiEE 78.3 109.2 2R 4 ’\:f 33.5'3&" FHIIC. D=>'.A“ D
BRI (BFEEEZ SHOQ2E | (BxvL. REX
HEES ) En—ILEREE 77.0 115.0 E&"s ﬁﬁ@ 1 mg&u) m)

(ANSR 1HEER)

15




£EBM RETEREERBE BRKLEFRE)
I

HDL-2LVAFu—-#E L : 50
e ST n:28
. HDL-C sl Oi&%%}fﬁ(f;j ) n:2
- ) ® AIERERTE T« > /7 R n:3
A% i g % | BTEH | HE% RN
u GETL 2 T AT n:l
HiL{ERE (IB1%F0) 28 52 26 46 B ®§§§ﬁ&;ﬁm; nio
BAKAT1HIL 14 26 16 32
TUhED 1 2 4 3 % ]
S IFRE 3 6 5 3 :,
"
*ﬂﬁ'ﬁﬂ% 2 4 1 5 REH0 LR R 2
S—AUR 2 4 2 2
F‘4/’7=XT~U—5£ 4 7 3 4 A iaial B
217= REH mean SD CV% mean SD CV%
FEAKAT 1L 49.0 0.88 1.79 68.9 1.21 1.75
- . z & - BT 1992 46.3 0.82 1.77 62.3 1.00 1.61
ok B0 BHHQ SITRE 49.3 0.58 1.17 69.7 1.53 2.19
mean 47 1 64.4
- (‘1‘27":’) ?53) 20— A 21 8 EffiC. DoA
v T - (Bizierk (I8#%F0) RHHED | (Bxv)L. REX
: : @21 %) )
(ANISR 15EER)

16



£HM KFEETEFHEERBS BEKLEFRE)

LDL-z2L X7 u—L -

JaL 1 FefEs - 50
. L D L C ’ o[ : @ﬁ%i\%iﬁﬂ&ﬁrﬁ:ﬂ'~‘/ o2
iﬂlliif mﬂﬁ 0/0 -ﬁﬂﬁﬁ E EO/O v%iiii:ﬁii )T AR : i
Bir{brZ (181G | 27 54 26 48 BB 13
FRIMERIETE : 7> 0 AR n:l
RKAT4HIV 13 | 26 15 33 8 .
TFUhERR 1 2 4 4 .
S IF AL 4 8 6 3 F
2
FyeimZe 2 4 1 5 o s
Ao L ERPRILE
—AUR 1 2 1 2
v 2 4 2 1 A—hH—5I HHOD HHO
SeEt mean SD cVv mean SD cVv
BRI h 85.2 1.01 1.19 117.9 2.10 1.78
2 K BT 1992 80.4 1.28 159 | 1111 | 1.75 1.57
g o) Er M) HEO S IJTFRE 85.3 2.50 2.93 117.8 2.99 2.54
mean 82.7 114.4 - - -
SD 3.05 4.65 2R —RA2EE FL{liC. D=>A
- - — -
CV% 3.69 4.06 (BRATeYvIR BEHOQ | (BAlE)

HER)

15688, /T AMREDOD1

(AASR 11EER)

17




£EBM RETEREERBE BRKLEFRE)
I

. C R P CRAGHEE A R4t i 19

mg/dL 1

| Eﬁi ﬁﬁggﬂ % ﬁTI ﬂi & =| ﬁ% @ ik GT oy A n:49
TV R EE 52 88 56 93
TT v A,
FSA42RXMN)—i% 6 10 4 6
REE 1 2 1 —
ij; g
£ & P
2
e ol HEO ¢ 21e) :
0.419 4.078 I
mean (0.513) | (4.430)
SD 0.02 0.10 2RY—_ A AR FHEiC. D=>A
CV% 4.77 2.44 (GTvoRREZE HHDO | (HxvL)

@2MEs%. REIZHRBO1E | (AHSR 1HER)
B RFSASRMN)—EEE | 78 25
O11EER)

18



£HM KFEETEFHEERBS BEKLEFRE)

B HDbA1C

AEsE | EER¥M | % | WEY | BE%
HPLC:% 30 61 28 66
fafEtb @ik 9 18 12 16
BRE 10 20 11 17
2 W%
EER S HHO #HHO
mean 5.62 6.54
SD 0.11 0.11
CV% 1.91 1.69

~E 7Y Ale (JDSTE)-#EE
% 1

REL06HDLALC

7.0
T

A BH05HbALC

6.0

@ ik - HPLCYE:
O Tk S Lk

0 Jitk BRI

I 49

n: 30

n:9

n:10

19



£EBM RETEREERBE BRKLEFRE)
I

mEEDH

Tl 7 ik B S ML SR E AT~

« ERBIIZIZCVRIZ1%~3%DIEEANZL. BIFTHHOT-,
ORY—_RAEZFONT-TERILZLITAT - B HE LT

- ANZRADEERMNEELY SLAHAONFELI=D T, FELTULV=EZE LY,
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£ RETEREGRBE BRKEPRED)
I

B ETfE: * F BGOSR R 4L 12 0
I§E B i B A B C
Na 18 B — & &% SEMENSD ERE 2 3 4
K 18 B — & &% SEMENSD ERE 0.1 0.2 0.3
Cl 18 B — & &% SEMENSD ERE 2 3 4
AST 16 B — 5§ EHENMNDENRE 5.0% 5.0% 7.5%
ALT I B — R 5L SEMENSD % IRE 5.0% 5.0% 7.5%
ALP 16 B — 5§ EHENMNDENRE 5.0% 6.0% 7.5%
LD 16 B — 5§ EHENMNDENRE 3.9% 5.0% 7.5%
AMY I B — R 5L SEMENSD % IRE 5.0% 5.0% 7.5%
CK 18 B — & &% EHENMNDENRE 5.0% 5.0% 7.5%
GGT 18 B — & &% EHENMNDENRE 5.0% 5.0% 7.5%
ChE 18 B — & &% EHENMNDENRE 4.7% 5.0% 7.5%




HFHM FESEREERBS (BRRIEFREDL)

B Na

HRISE & M| % |BE%
BRE(FHRE) 43 82.7 | 86.1
BREGERTGE) 3.8 4.8
FDith 3.8 0.2
RSA4H5IRM)—i% 9.7 8.9
2 &
g HEO HHEOQ
mean 132.5 147.0
SD 1.0 1.1
cv 0.79 0.77
A2 A B C D
HHEO 46 0 1 0
BmEQ |46 | 0 | 0 | 1

FRU™ L [mmol/L] et S
o ‘ Oﬂ‘i%}i;’f N 43
o
et 0 SRR/ ER 0
{
o § O?F%*ﬁ;‘f/i—’]/}?{ n:i
Q
T FDMDAHE n:2
e
B
m

(o]

3
|
A
13
8 <
o Y
o = b
x AT 5

128 130 132 134 136
HE0IERIKKILE H 1 {f : 130.0 ~ 135.0
HE1 | AHZX Sl D = A
HE2 | AHZX Sl D = A




H K

HFHM FESEREERBS (BRRIEFREDL)

B & HEEH| % |BE%
BEE(FRE) 43 | 82.7 | 86.1
BARE(ERRE) 3.8 4.9
Z D1t 3.8 | 0.1
FSArIRM)—i% 9.7 | 8.9
£ &
i HEO HEQ
mean 3.67 5.29
SD 0.05 0.05
cV 1.43 0.95
FTAih A B C D
BEO | 47 | 1 0
HHEO 47 | 0 0 0

B 47
AU 2 [mmol/L]
3. 6%%% n:43
© 0 R E/ER n:i
z <t
S 1} O’QF%*R;‘%/F‘O/%?«( n:
5
m FOMDAHE n:2
Bk
11|
N

#*
K\
%
{8
S
%5

3.4 36 38

B0 ILE BiZE{HE : 3.50 ~ 3.80

A FH ANZR i D = A

SHF2 ANZR i D = A




£ RETEREGRBE BRKEPRED)
I

H Cl

W47

208—)L [mmol/L]

EEE(FTE) 43 | 827 | 861 | =7 (| Bt/ TATUETL o
BB EERERE) | 2 38 | 49 | 7 o N ﬁ—%ﬂ;’f/%mémﬂm . i
- IHGE/ ZAT R T4—
Dt 1 1.9 0.1 e ot FIE/O—AVRHCL -
o [ ySAY A
P GRS 1 1.9 0 ﬁ¢ 6%%R5£/BC%@(AU~; n:2
FSA7SRAM)—i&| 5 9.7 8.9 m ™ [T — G'#Ta%Rif/n&:L-INTEG n: 1
s o = O ARE/ 2D n:2
o ¢ ERBE/ ER >
s HED | HBEO vl 0 N
R E“ O#ﬁ%ﬂ;‘f/-‘ra/xv‘-‘% n:1
mean 97.4 113.1 N =
SD 1.1 1.3 S
cV 1.16 115 Msz 94 96 98 100 0z () EE n:t
: : 5L 01 Bl ER L 22 B 4#R{E : 95.0 ~ 100.0
Rl A | B | C | D S | AHIR S D = A
2HO 45 | 2 0 0 X > BB, H35 A ST C o B
B ¥ &, BCAL il
HEO 45 2 0 0 AHIR E@m D = A




HFHM FESEREERBS (BRRIEFREDL)

. AST 1% 53

TRISF BT/ NSV RT25—E [37°CEIRRE L]

REE MR % |BE%| 2 ZITAR 28
= = n:
JSCCk 52 | 86.7 | 903 | 7 () Pt 10
= s 4o a2 n-
IFCCi%k 0 | o | 01 [S7] . _ () e 10
< | YA 2ot 7
Dtk 1 1.6 0 3 n:
N — — > @@ﬂ
BSASRM)—k| 7 | 11.7 | 96 |~
I
3
*ﬁ:n},
2 ® #
LR = HEO HEQ B9
mean 35.6 162.5 % ’
SD 1.0 2.3 ﬁ
32 34 36 38 40
cv 2.73 1.44 ABOERKEZE H i : 34.0 ~ 39.0
2] A B C D AE | ABSX FMEiD = A
= XK => MR RE FHE D = A
il > 0 1 0 K2 | XK= BHCAL £l C = A
#HHO 53 | 0 0 0 ANZR FMED => A




HFHM FESEREERBS (BRRIEFREDL)

B ALT

B5EE SR % |BE%
JSCC:k& 52 86.7
IFCCix ] 0
T D1tk 1.6
FIA7SRMN)—iK | 7 11.7
£ &

ERE S H2EO HHEQ
mean 35.4 157.2
SD 1.0 3.4
Ccv 2.74 217
2] A B C D
HEO | 53| 0 0
HEQ 53 0 0 0

FS=VTF3I/MS5RT715—F [37°CEEEE{]
o ‘ ‘ ‘ Gﬁéﬁﬁﬂ:?
(o]
© 9 Ojn«r/x
!~
o OF‘aﬂiﬂ:?
FEH7A L LA .
<o "/ BRAT VIR
@19 © . =
% @ 6V/TZI~
m 5 Zyh—R—ATF A
5 e 0
T ® RNyHY3a—)LE—
;ﬁji ke ® O o
9o ODVJ'9477/ZT*
| ° T+ T4 L LRSS
%; R O 1 Mt
o Dt
F () et
b ‘ ‘ ‘
32 34 36 38
B 018 R L2 H % i - 33.0 ~ 38.0
A FH AHNZX M@ D = A
X5 =HECAL I C =A
A2 | AKASX ?Fﬁiﬁ D =A
AHNZR @D = A

¥k - 53
n:i
n:i
n:10
n:i

n:26



HFHM FESEREERBS (BRRIEFREDL)

B ALP

BIE % TEERE| % |BE% FIHIE T+ RI75—+ [31°CEFRE L]
o_§ - O O O O @O 69/-7:<i~
JSCCi% 52 | 88.1 | 92.7 3 s
IFCCI& 0 0.2 é Ota?iwf)bﬁuﬁ't.%@%
o
ZOf o [ o : o
RS RN)—ik 1.9 | 7.0 @ 3|
ik
i
2 & o
_ *S
B | HEO | HEO i
mean 291.7 431.6  [EIOMERR |
SD 5.1 8.3 £
275 280 285 290 295 300 305 310
cv 1.74 1.91 59501 B8 B . 22 B fi < 277.0 ~ 307.0
i Al B|]C]|D SE1 | ANIR SHED = A
2HO 51 0 1 0 #Af2 | AKX M D = A
#HHO 51 1 0 0

whe

n:25

n:11

n:10

n:6

52



HFHM FESEREERBS (BRRIEFREDL)

H LD

HI5E % M| % |BE%
JSCCi% 51 87.9
IFCC3k 0 0
RSAXM)—i% 7 12.1
2 &

ELg ] HEO HHEO
mean 159.9 423.9
SD 3.2 6.6
cV 1.97 1.56

A2 A B C D
HED 51 0 0
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